EARAROBREBRT —5 XN—ZXBISH—F

202355868 (+) 2@ERR5H

I UV VNLS =TV Y5%R3% (E)

(8% Fiin

EZER

[EERRE] - 220000 R

[AE=%] 1 7% :20,000,000 § ~ 2375:8,000,000 3 .~ 37&:5,000,000H  437&:3,00,000H  53&:2,000,000 4

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
° — BI85 : -1- ZRESF L ERH)
IS 24 RT=H 33 a2 2.((2).2 1-1-1 [ 33.6100.4| 2 :1_7:)) EE%EEK
RiJ4 I RD—LEY B:Fq—F5T /=Y ITr—1L
= o= 3 | D. b=Y 2:01.3 4-4-2  [33.6]99.4 | 1 510 | SHEN GER)
PYZ—)JLRTJUT e 56.0 ) -6) BRI LD
RIIET7RA47 8:U—XRIJUT VA9 4S5T7—1A
~,=> 3 | PlEEX 2:01.5 5-5-7 | 33.4]| 97.4 | 3 520 | EUEEMUER (ZE3R)
PE NN " 56.0 m o | TNL=o>7
RIN=YISA B:yLI7—ANY VPP LN
O 19 4 3 | AEHEIN 2:01.7 6-6-5 33.7] 95.0 | 5 458 | ML (R0E)
ATATRVRY ~ ‘ 56.0 A 1/4) ) |FHERE
R:T—=ILRI—-X #B:5RU—-X N L8805
S~P3y_ B3| LA 2:02.0 2-2-5  |34.1]88.2 | 4 | 458 |mEES (5H)
50111137 5.0 (1 3/2) e |8 HBL—RK—2
RIN=YITS4A4 B:/vyFEFVAH #HE77—A
= S 3 | BEERX 2:02.1 2-2-2 [ 34.4] 841 | 6 430 |JEERA ERE)
6177 FZANILY— " 56.0 (3/4) 10 | @ JZE-3RE
RiTSvIIALR B:ibho—E— /=Y Tr—I
RS 3 3 | OPEE 2:02.4 7-62  [34.6| 79.8 | 7 | 432 |/AvsLIE GER)
7B) 2| b—EBYHRSLA 56.0 {1 3/ ) | Bl
R:d7rFwyasy #S:0-YFILRNA BRAEMH IXFA4T7—L
[ BN
En'y 46.0-33.6
NOYIAL | 13.2-12.3-11.9-12.1-12.9-12.8-12.4-11.2-11.1-11.3
@ 11— —BRIEI
13—7F—
20—F— 3(1,7)-5-6,4,2
Ia=5r= 3(1,7)5-6(4,2)
40—7F— 3(7,5,2) (1,4)6
0 ILRE
BB 3 320 JA R 3-5 1609 B E 3-5 280M 3EE 3-5-6 460/
B B 3 1504 3-6 2904 o= F5 660M] 3Es 3-5-6 2,210
5 120/ 5-6 1904

ABIC OV TRUTEREERRODDZE. THRIIZEL.




